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SECTION 3-3: DERIVATIVE RULES (DAY 2)

1. Find the derivative of each of the following. Use whatever rule you choose. Simplify if you have
time.
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2. Determine the point (or points) where the graph f(z) = 23 has a slope of 2.
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3. An ant walking along a sidewalk has traveled s(t) = t* — 2¢? inches in ¢ minutes. Find the acceler-
ation of the ant (with units) when the velocity of the ant is 0.
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4. The concentration of an antibiotic in the bloodstream ¢ hours after being injected is given by
2t% + t

C(t) = B0 where C' is measured in milligrams per liter of blood.

(a) Find C(0) and C(10) and explain what these numbers mean in the context of the problem. .
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(b) Ttis a fact that C'(t) = 72('542;3175%8?7%) . What are the units of C’(z)?

(m;lh'émms per l}hr) 12 hour or mg/L hir

(c) Itisa fact that C’(10) = —0.018. Interpret this fact in the context of the problem. Use language

a Precalculus student could understand. ] e -
Ten houy ofder +Hhe 7n:)eo4'nm ) Jhe Lancomtrotin of antibistic ih +he bood
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(d) Use the fact from parts (a) and (c) to make a guess about C'(11).

CUN 2 CON+CU = 020-0.018 = 0182 g
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